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Segianing vith the 1981 model year, a1l vehicles vith & CW rating of 10,000 pounds
or less, have a 17 character fixed formst VIN, with & check digit vithin the number.
Thie spplies to pasasnger cars, muiti-purpose passenger vehicles, trucks, buses,
trailero, incomplete vehicles, and wotorcycles. The first three characters of the
VIN 2dentify the netion of origin, sanufscturer, mske and type of vehicle. The aext
five characters wafquely fdentify the attributes of the vehicle such as sodel, body,
engine type, and restraint systes. The ninth charscter ie the CEECK DICIT and fs
iatended to verify the Sccuracy of the YIN. The tenth character represents the
wehicle model year; the eleventh represents the plant of ssnufacture; and the last
siz ¢haracters reprasent the sequential production u-\hr. (See your NATD msmwel).

Ay
.following table end procedure vill enshle you tedecode the YIN's “ORCX WIRTY.
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Computations 1m the appropriate boses in 1ine "D". Add together all of .=
the nusbers recorded in 1ine "p” and enter the final sum ta the space I -

provided. Divide the final sum by the nusber "11". The remainder of this

3

$ivision 16 che TCHECK DIGIT™ (the 9¢th character of the 17 digie VIN). -
U the remainder of this division {s e single digic mumber, then it should >
Satch the "CHECK DIGIT" {m the VIN exactly; 1f the remainder is the mmber o
“10", then the "CHECK DIGIT" 1s the letter *x", _

TABLE ™

Al Jel Te) je1 gag Assign to each susber in the VIN 1¢e sctusl value ond
2 Re2 Pub 222 Pe7 tecurd that value in the eppropriate bon ia Lime “B".
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- To deternine the year of Sanufactere frew the 17 digit VIN (character $10 of the VIN)
wee the following:

1900=4 1982«C 1984=2 198¢6=C
1981=3 1983=p 1985-r 19678 Rte.

" Rasmple: 1981 Ford Musteng VIN - APARPI2AADRI0ION  Pimal Sem = 246
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